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Instruction : Fiurst 15 minutes are alloited for

the candidates o read the
queslion paper.
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There are 1n all eight questions in
this question paper.

All questions are compulsory.

In the beginning ol each question,
the number of parts o be

attempted is clearly mentioned.
Marks allotted to the questions
are indicated against them.

Start from the first question and
proceed to the last.

Do not waste time over a

quesuon you cannot solve.,
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L. Attemptanyfour parts of the following :
a) I A= [(D‘: X oosin© 1]

SIN° X oS x
- 3 2
B= 51"{" C?:’-, A , then find the
COS“ X Sin“x

valuc ol A + 3, 1

by If lun"'(%);r, then find  the

vildue of cog 2y, 1
¢} Solve the Inequality

Sx-323x -5, where X1s a real

number, 1
d)  Find the centre and radius of circle
2x% +2% 4 10x=6y—1 = 0. 1
¢)  Find the focus and directrix of the
parabola x? = -8y. l
2. F=fEEm § % o oan Zpco il
E:':f?ﬁ{ :
i ] ) |.‘.']:':b .
) AT | w0l =do, @ ) &7 095
] Il w
3 @A, A o = .___I;+"_q“§ g1 9
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q..,:, = - . -1 i
R L X lllt] I ‘!‘f 1 I.-l“] L= o

al [ HET T x+y+z=ayz. 2

a3y + 4y < 12 & HeEE @

« B @At | 2

x+y+z| [13

=

ag | x+z |=|7|F @ xyzH
y+2z U
B _?i\
T S E AT 2

9= (1,2,3) @ TG yEE da@ oo

XOZFTTAR # Fd &IAT | 2

Attempt any four parts of the following :

1 m ° _
3 .
flwow o 1]=io, then find the

]
m* 1 m

iv3
+—7j'—. 2

. ]
value of 2., where = -
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m‘“wwm?fﬁﬁﬁﬁ%ﬁ%mn4z=n

then prove that

' Xt+Yy+z= XYz, 2

¢)  Solve Incquality 3x+4y <12 by t'1

Braphical methoq, | 2 'I

o ¥tvre] nia 1

X+ = .

. y+§, g]. then find the |
vitlues of y Y, z

e) Plﬁd the f:ilstanr:ﬂs of point (1,2 3} i

ﬁ from Y-axis and XOzZ-plane- .:};2 T'

3‘ ~ " ._. ‘ ”:

Tmﬁaa LR T i
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M e

) -1 8
lnn'ﬁx+l]+1nn Hx—i]=lan LET

F A AT 2
) g 5?7'?1':'-, i e FEE]
I +my+n=0 TWdeid y? = dax T
@y wAN, 45 In = am”. 2
%) AW gt A, pagc & s
wav(4;5,2),(3,52) aF
(-1,-1,2) & 1 =930 [ @5 A, B, C
T g & 9 .
Attemnpt any four parts of the following :
a) Find the soluuon by graphical

method of the following inequality
system !

3x+2ys12, x21,y22. 2
h)  Prove that
a+b+2e a b
C b+ec+2a b
¢ a c+a+2b
={a+h+cﬁ.
— 1 -at
' 2
078635 [ Turn over

-—

Scanne d with CamScanner



334Dz g

Solve the CqUition

tan™!(y 4 4 tan~!

an fy o I} = [:m‘l-ﬁ-.
31
2
4 Prove that (e Straight  Jine
h‘+my+u =0 wij touch  he
]
Paraboly W =day i in=am? 2

¢} Coord Inates of three

and C are (4,5, 2 L (3,5

(-1,-1,2) respectively, Thep show
that

points A, B, Carethe Vertices
of a right angle

Points A, g »

v 2 ) ang

d triangle.

27
9. "I%Tmﬁﬁ 7 g MR i T H 7
f-!':'- K
. I 2 3 |
%) um A=|] 13 a1, m A GG
I 9 3
-r-f'i'rﬂ{l 3
078635
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a+h b c ;

3
b+c ¢ a —‘inbc—n -b’-c”.
c+a a b

W oein” . T
Ty A osin”! x4 sin 1y+51n z=1,

wW1-x2 s yl-y7 4 -2zt =2xyz.

3
u) tyg @ian = 37 & *J +2ax+c=0
EﬁT x° +y*+'zhy+c=0ﬂWW"""

Ly L2 3
al bt €
Attempt  any three  parts ol the

ll { Jl

(ullowing

2 3 R
Q) A=l 3 41|, then find A
| ] 4 3
b)  Prove that
h b ¢
T,r:: c a|=3dabc-a 1o’ -c°.
c+a d
3
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¢) Ifsin” x+sin” 93 \

then prove that

xvl-x +J\.'1 ?

_211—ZE=211E‘ I
3
d)  Prove that the circles '
x?+y?+2ax+c=0 and
x* +y? +2by+c =0 will touch .
weach other if —5+-1-=l_ 3 .

-‘ a bz ¢ Tl e,
5. frofaiEs 0 @ ff dm =% 2 = I
éﬁ?rlt{: .
frfaian s A9 @ Sess
'# Lt e, =
- ?x EZB x+2yz]0 x20,y20.
.l-" i o * 3 .

l
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!
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*1_; =194 = S,

1l

TTJ FTT*F.;_:‘ I}I +
O = I ot

F AT 3
§)  FERT
1
x =1 2x 3
ﬁﬁ‘&ﬁfﬂ@l 3

5. Allempt any three parts of the

P i lovine -

Solve by graph
jality system .

a) ical method the
following ineat

20,y2z0.

Jv+uz8, x+2y210, %
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c)

d)

6.

12
Find the falus rectum, ceeepy, ity

and eoordinates of foci of gp Clling,

1‘-4-43;‘ =144, 3

Solve the equation

p.
= j ilt-.‘-hI 4.!
[ﬂ“l"—‘i—-"f'[(}l l_‘———-+-—1-=[}
2 3% 3
X< -] <

A[nr{r“l]-{n:{;d]:‘l—l All
A#mﬂwmm"i%mmé&wﬁr 4

) m’aﬁmafmmﬁmm“rw
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of the following -

aupl and ore pittl

& Alle
a) A any square matns, then

prove that

AladpA) = (adjA)A = | AT, whert

|is the uml matrix of the same

order as A. 4
by I cccentricities of a hyperbola and
1ts conjupate hyperbola be € and

ove that

e, respectvely, then Ppr
|

-l—;.}'-i"'—-;: . 4

e, €

B e - B C I T W R

A0 |
" LN =

1+a 1 1
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m) = fama A @ B & fewiE @
(=2,2,3) 57 (13,-3,13) &
Ty fag P ® AN W EHE
T @i SaF 3PA = 2PB. 4

7. Aucmpt any one part of the following

a)  Prove that

spccﬁvely, thcn fi nr.l the

re
' g&ﬁuaﬂuu of lnr:us of a moving poin
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bl Solve the following equations by

matrix method :

X+ J

v4 21+ 32 =49

\:--~1y+[l:':=h.

334(DZ)-1,60,000
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